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Instructions:

(1) Answers to the two sections are o be written separately in answer-book.

(2) Figures to the right indicate full marks of the questions.

(3) Show important calculations separately wherever necessary.
(4) Answers should be precise and to the point only.

SECTION =1
Q.1(A) What is cost accountancy? Explain in detail the function wise classification of cost with  [06]
examples.
(B) What is costing? Discuss in brief the different methods of costing, [061
{C) Write a difference between profit and loss account and cost sheet (any six points only). [06]
OR .

Q.1 The following were extracted from the cost records of Apple Co. for the year 2015-16: 12]

Production : 1,000 units

Materials Rs. 20,000

Labour 12,000

Factory overhead 8,000

Qffice overhead 4,000

Selling expenses 1,000

Rate of profit 25% of selling price. g

The manufacturer decided to produce 1,500 units for the 2016-17. 1t is estiv:ated that the
cost of materials will increase by 20% and the labour will increase by 10%. 50% of the
overhead charges are fixed and the other 50% ate variable. The selling expenses per unit
will be reduced by 20%. The rate of profit will remain the same. Prepare a statement of
cost showing total profit and selling price per unit for the year 2015-16 and 2016-17.

(B) Write a difference between financial accounting and cost accounting with the help of  [06]
following points:

Meaning

Purpose

Statutory Requirements
Reporting

Control

Stock Valuation
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Q.2 (A) Deﬁnfe the terms ‘margin cost’ and ‘marginal costing’ (in 3 to 5 lines only). What are  [09)
the advantages and disadvantages of marginal costing?
(B) Write a note on Accept or Reject Orders (Whether Indian or Foreign). _ [08]

OR

Q.2 (A) The fc}llowing is the standard cost data per unit of product “Pen” manufactured by Cello [09]
; Plastic Products Pvt, Limited: :

b i - F
‘ Selling price : © 40
: Direct material . - 08
| | Direct labour _ : 05
‘ ' Variable production overheads ' )
. Fixed production overheads 05
i [Based on a budgeted normal output of 36,000 units per annum]
 Variable selling expenses - 06

Further the fixed selling expenses were ¥ 1,20,000 per annum.
During a particular month, the company produced 2,000 units of the product and closing
stock was 500 units. There was no opening stock.
You are required to:
(N P;j'epare profit statements under
(i) Marginal Costing Method, and
(i) Absorption Costing Method,

2) Exﬁ]ain the reasons why two techniques disclose different amount of profit?

: (B) Following information has been made available fiom th.e cost records of MICO Ltd. that [08]
: manufa%cmres spare parts: '

. Direct Material Per Unit
®
' X 32
Y 24
Direct Wages
X 24 hours ¥ 1.00 per hour

: Y 16 hours ¥ 1.00 per hour
Variable overheads — 150% of wages :
Fixed overheads — ¥ 3,000

Selling Price Per Unit

3
X 100
Y 80

The directors want to be acquainted with the desirability of adopting any one of the
following alternative sales mixes in the budget for the next period. ’
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Q3 (4)

(B)

(A) 250 units of X and 250 units of Y
(B) 400 units of Y only

(C) 400 units of X and 100 units of Y
(D) 150 units of X and 350 units of Y

State which of the alternatives you would recommend to the management and why?

SECTION -1

Define the terms ‘target cost’ and ‘target costing’ (in 3 to 5 lines only). What are the [09]

metits and demerits of target costing?
Write notes on any two: ‘

1. Cost Driver

2. Kaizen Costing

3. Product Life Cycle Costing

OR
Q.3 Relevant data relating to Vidya Dairy are:
Products
Particulars A B C Total (3)
Production and sales (units) 60,000 + 40,000 16,000
Raw material usage in units 10 10 22
Raw material costs () 50 40 22
Direct labour hours 2.5 4 2
Machine hours 2.5 2 4 2,594,000
Direct labour costs €4} 16 24 12
No. of production runs 6 14 40 60
No. of deliveries 8 6 40 64
No. of receipts 60 140 880 1080
No. of production orders 30 20 50 100
Overheads: 4
Set up 1,20,000
Machines 15,20,000
Receiving §,70,000
Packing 5,00,000
Engineering 7,46,000

You are required to calculate cost per unit for each of the three producfs using Activity

Based Costing.

[09]

[18]




Q4(4)

(B)

Q4(4)

(B)

What is cost audit (in 3 to 5 lines only)? What are the advantages of cost audit to [09]
management, consumers and government?

Write notes on any two: [08]
1. Proprietary Audit
2. Efficiency Audit
3. Eligibility for appointment as cost auditor
OR
Write a note on cost audit in India. Give a list of name of five industries (e.g. sugar) in  [09]

which cost audit is mandatory.
Distinguish between financial audit report and cost audit report. [08]
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